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Work	out	the	following	and	simplify	the	answer	where	possible.	

2
3
÷
8
9
=
2!

3!
×
9"

8#
=
3
4
	

5
7 ÷

6
14 =

5
7!
×
14"

6#
=
5 × 2
3 =

10
3

= 3
1
3	

3
7
÷ 5 =

3
7
÷
5
1
=
3
7
×
1
5
=
3
35
	

4
5
÷
1
15

=	
4
9
÷
3
24

=	
5
16

÷
15
64

=	

2
4
÷
3
12

=	
4
7
÷
3
2
=	

9
7
÷
18
14

=	

6
5
÷
4
3
=	

3
6
÷
12
36

=	
3
5
÷
4
7
=	

6
13

÷
12
39

=	
4
25

÷
64
5
=	

42
45

÷
7
9
=	

36
81

÷
6
27

=	
3
5
÷
4
7
=	

4
5
÷ 6 =	

5 ÷
15
4
=	

12
13

÷
144
169

=	
3
8
÷
12
32

=	

6
7
÷
8
28

=	
46
3
÷
23
3
=	

7
9
÷
3
2
=	

6
72

÷
34
36

=	
4
5
÷
8
25

=	
16
3
÷
32
6
=	

15
9
÷
45
108

=	
49
25

÷
7
5
=	 0 ÷

123
321

=	


